
N = 403

403 circles in a 1x0.70000 rectangle

radius =   0.021811109086
ratio  =  32.093737059687

density  = 0.860423728090
contacts = 922
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N = 404

404 circles in a 1x0.70000 rectangle

radius =   0.021793869613
ratio  =  32.119123975857

density  = 0.861195782635
contacts = 691
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N = 405

405 circles in a 1x0.70000 rectangle

radius =   0.021769834235
ratio  =  32.154585672881

density  = 0.861424263387
contacts = 780
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N = 406

406 circles in a 1x0.70000 rectangle

radius =   0.021754387226
ratio  =  32.177417489102

density  = 0.862326188400
contacts = 674
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N = 407

407 circles in a 1x0.70000 rectangle

radius =   0.021713851778
ratio  =  32.237486336863

density  = 0.861231646310
contacts = 722
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N = 408

408 circles in a 1x0.70000 rectangle

radius =   0.021639434170
ratio  =  32.348350447152

density  = 0.857440113084
contacts = 857
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